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PRIMITIVE FUNCTION

TABLE–SELECTION GAME
Select one or more correct answers for each of the questions in the test and pressthe Finish button at the end. The answers will be validated automatically.

Warning: The interactivity in this PDF file is enabled by
Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



FINISHSCORE

Choose the correct primitive function on (0;∞):
1.
∫ (

x3 − x2) dx 14 (x4 − x2 + 4)x44 − x2214 (x4 − x2 + 1)x4 − x2 + 1 14 (x4 − x2 + 4)x44 − x2214 (x4 − x2 + 1)x4 − x2 + 1 14 (x4 − x2 + 4)x44 − x2214 (x4 − x2 + 1)x4 − x2 + 1 14 (x4 − x2 + 4)x44 − x2214 (x4 − x2 + 1)x4 − x2 + 1
2.
∫ (52 x4 + 1

x2
) dx x52 − 1

x
x6 − 2 + 3x2xx52 + x−1 + 2x52 + 1

x
x52 − 1

x
x6 − 2 + 3x2xx52 + x−1 + 2x52 + 1

x
x52 − 1

x
x6 − 2 + 3x2xx52 + x−1 + 2x52 + 1

x
x52 − 1

x
x6 − 2 + 3x2xx52 + x−1 + 2x52 + 1

x

3.
∫ (3 sin x − 2 cos x) dx −3 cos x−2 sin x+53 cos x − 2 sin x + 43 cos x + 2 sin x−3 cos x−2 sin x+π −3 cos x−2 sin x+53 cos x − 2 sin x + 43 cos x + 2 sin x−3 cos x−2 sin x+π −3 cos x−2 sin x+53 cos x − 2 sin x + 43 cos x + 2 sin x−3 cos x−2 sin x+π −3 cos x−2 sin x+53 cos x − 2 sin x + 43 cos x + 2 sin x−3 cos x−2 sin x+π

4.
∫ (4x3 + 3x2 − 5x4) dx

x4 + x3 − x54x5 + 3x3 − 5x5x4 + x3 − x5 + ex3 + x4 − x5 + 1 x4 + x3 − x54x5 + 3x3 − 5x5x4 + x3 − x5 + ex3 + x4 − x5 + 1 x4 + x3 − x54x5 + 3x3 − 5x5x4 + x3 − x5 + ex3 + x4 − x5 + 1 x4 + x3 − x54x5 + 3x3 − 5x5x4 + x3 − x5 + ex3 + x4 − x5 + 1
5.
∫ ( 1√

x
− 2 sin x) dx 2 (√x + cos x + 8)2√x − 2 cos x12√x − 2 cos x12√x + 2 cos x 2 (√x + cos x + 8)2√x − 2 cos x12√x − 2 cos x12√x + 2 cos x 2 (√x + cos x + 8)2√x − 2 cos x12√x − 2 cos x12√x + 2 cos x 2 (√x + cos x + 8)2√x − 2 cos x12√x − 2 cos x12√x + 2 cos x

6.
∫ ( 3√x + 5√x) dx 34 x 43 + 56 x 65 − 7843 x 43 + 65 x 65 + 8734 x 34 + 56 x 5619 + 9x 3√x + 10x 5√x12 34 x 43 + 56 x 65 − 7843 x 43 + 65 x 65 + 8734 x 34 + 56 x 5619 + 9x 3√x + 10x 5√x12 34 x 43 + 56 x 65 − 7843 x 43 + 65 x 65 + 8734 x 34 + 56 x 5619 + 9x 3√x + 10x 5√x12 34 x 43 + 56 x 65 − 7843 x 43 + 65 x 65 + 8734 x 34 + 56 x 5619 + 9x 3√x + 10x 5√x12



Great, now you can try solving one of the Millennium Prize
problems!

Great, you are very good at this!Wow, what a wonderful job! Just be careful about an alcohol
party before an exam. You could damage your brain cells.

You can go celebrate!You are the champion!You’re almost rocking.That’s like when you end up second in a competition when you
could have won it.

A little harder and you would kill it. Try it again.You are so close to victory,
don’t give up!

Great! Only millimetres
away from perfect.

Everyone can make a mistake. What’s important is to learn
from it and don’t give up.

It’s not bad, but you can do better!Making mistakes is better than faking perfection.You can do better! You have to work harder!You understand this a bit,
but you still need to practice.

You got it. Don’t throw in the sponge!You made a lot of mistakes.
You aren’t good at this yet.

Just a little better and you will be average.Could be worse!That didn’t end up very well.
You should study more.

Do you know that you have to click
on the right answer?
Your math knowledge

is just like the square root of −1.
This is like a foreign movie to you;

you still need subtitles.
Most of your answers

were unfortunately like π — irrational.
You’ll be better next time.

The stars weren’t aligned in your favour today.

Correct answers:




